BEY ;Qué numero toca ahora?

48 264 58 323 219 8 3 1 69 322 241
X 5 X 5 x5 X 5 x5 X 6 X 6 X 6 X 6 X 6
6 91 89 408 217 65 51 272 603 218
X5 X 5 X 5 X5 X 5 X 6 X 6 X B X 6 X 6
8 272 71 529 281 33 605 389 530 640
X 5 %5 X 5 X 5 X 5 X 6 X 6 X 6 X 6 X 6
43 352 109 128 433 9 83 266 725 216
X5 x5 x5 x5 X5 ‘ X 6 X 6 X 6 X 6 X 6
T XA = 44x2= ... 269 -9 = ......... 89+0=.....

100-65=....... 1+32+2=....... 12x4=...... 5x1=....



¢ Cuantos euros hay? 1234 12356
e T 217 42109
IS & & 86 + 1721
> o 2 4534 12479
oo 479 219
28 29
1 + 2
134 112 2175 54368
546 567 658 69457
+ 23 +255 245 + 1213
274 686 6 96587
29 1 195 26 1254
20 563 6425 23
+742  1+1908 468 + 5286
45 +9= ... 78+9= ...
36+9=. ... 82+9= ...

2365
9802

+ 328

+

9689
26548
26

1
42359
26

Une las operaciones 13
que tengan este
resultado:
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T D)

4259 543 523
59874 982 89
+ 12 + 56 +254
52896 62 154

145 514 52
268 203 203
+ 2 +154 + 41
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56438 422338 76091254 ’ 620322 726515 5216475
— 4349 — 33459 - 21568 - 21629 — 65569 — 325698
1256 42569 13769356 900363 843236 2130008

— 96 - 1269 - 116999 — 68343 — 93285 — 120699
5433 76890 4264903 111131 44444 3000299
—4344 . - 1009 — 32796 - 29827 — 3787 — 899888
98780 78655 7521369 g 60163 304421 6200315
— 2766 - 9099 - 2569 — 9658 — 88328 — 52146
9 +10+8=......... 9 +20+3=......... 328 -101 = ......... 487 - 101 = .........

9 +30+2=......... 9 +40+1=......... 286 —-101 = ......... 958 — 101 =.........



